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* 3 b—A —h%Ek REFE (22:15)
BRES. 2ES L—R 155
# 7. EFE. R, 18 izt EEH = 1E 2 _ ] i :
#. FE5 BEfH © @ ® @ ® ® @ [ & PO g NE BEH HE NV HE BE 2 EHY
AR5 60 1 1 6 3 52320 0 1 1.6 3.3 13.3| 0 3.37 3.455 3.45 5.69 3.529
2221 (MN—H£%) 44 0 1 2 3 4 17 17 0 0 0.0 2.2 6.8 0 3.37 3.455 3.45 5.93 3.524
(zoft—#%)| 16 1 0 4 0 1 6 3 0 1 6.2 6.2 31.2| 0| 3.42 3.500| 3.46  5.00 3.543
11 @ F 0| (ROMGH)|--
nma 10 0 0 1 2 3 2 2 0 O 0.0 0.0 10.0/ 0 3.39 3.471 3.42 5.20 3.493
iRtz 228A FRERIG 14 0 3 2 4 2 1 0 2 0 0.0 21.4 35.7| 0| 3.40 3.474| 3.43 4.28 3.508
57% SEA 12 1 1 1 0 2 4 1 2 0 83 16.6 25.0/ 0| 3.41 3.478 3.43 5.25 3.506
LLB5 6 0 0 0 0 2 3 1 0 O 0.0 0.0 0.0/ 0| 3.40 3.484| 3.44 5.83 3.509
fix 72 31010 8131512 1 O 4.1 18.0 31.9 0| 3.35 3.432| 3.41 4.61 3.508
2522 (MN—H#%) 47 2 8 5 5 9 11 7 0 0 4.2 21.2 31.9 0 3.35 3.432 3.39 4.53 3.488
(ZOAfth—H%) 25 1 2 5 3 4 4 5 1 0 4.0 12.0 32.0 0 3.39 3.494 3.44 4,76 3.547
ol EA BB o (zotem) -
nma 19 1 4 4 0 2 5 1 2 0 5.2 26.3 47.3 0| 3.35 3.435 3.38 4.42 3.480
fiix 255 BB 11 1 2 0 1 2 3 2 0 O 9.0 27.2 27.2| 0| 3.36 3.444| 3.39 4.63 3.487
517% SRAR 9 3 2 1 0 1 0 1 1 0 333 555 66.6 0| 3.37 3.434 3.38 3.33 3.490
L5 11 3 0 1 1 3 2 1 0 0 272 272 363 0 3.36 3.431 3.38 4.00 3.461
A 74 13 15 10 41015 6 1 0| 17.5 37.8 51.3 0 3.33 3.405 3.39 3.77 3.487
2730 (MN—£%) 49 11 11 8 4 5 7 3 0 0 22.4 44.8 61.2 0 3.33 3.405 3.37 3.28 3.464
(ZOAft—H%) 25 2 4 2 0 5 8 3 1 0 8.0 24.0 32.0 0 3.35 3.460 3.42 4.72 3.532
M {EJT HE 10 (@ofewm) -
nma 10 1 2 1 1 1 1 3 0 0| 10.0 30.0 40.0/ 0| 3.35 3.416 3.37 4.40 3.464
fRix 27HA FRERIS 6 1 1 0 0 1 1 1 1 0| 16.6 33.3 33.3] 0 3.37 3.433] 3.39 4.83 3.484
467% SRAR 13 2 0 0 1 3 1 3 2 1| 153 153 153 0| 3.34 3.426| 3.37 5.33 3.488
LIS 11 1 0 0 2 2 5 1 0 O 9.0 9.0 9.0/ 0| 3.36 3.419| 3.38 5.09 3.463
ARis 5813 9 9 8 9 7 1 2 0 224 37.9 53.4 0| 3.27 3.390| 3.37 3.44 3.463
2720 (MN—£%) 36 11 5 7 4 6 3 0 0 0 30.5 44.4 63.8 0 3.27 3.390 3.36 2.94 3.448
(ZOAft—H%) 17 2 3 2 4 3 2 1 0 0 11.7 29.4 41.1 0 3.33 3.431 3.40 3.76 3.494
4 B 5B |20 (=ottcH) 5 0 1 0 0 0 2 0 2 O 0.0 20.0 20.0/ 0| 331 3439 335 6.00  3.459
nma 17 1 1 3 1 3 2 5 1 0 58 11.7 29.4 0| 3.30 3.393| 3.35 5.05 3.448
fiRizx 27HA FRERIG 8 1.2 0 0 1 2 1 1 0 125 375 37.5/ 0| 3.31 3.403| 3.33 4.62 3.440
455% SRAR 4 0 0 1 1 0 2 0 0 O 0.0 0.0 25.0/ 0 3.37 3.476| 3.39 4.75 3.496
L5 17 0 2 1 7 2 1 4 0 O 0.0 11.7 17.6/ 0| 3.30 3.381| 3.35 4.64 3.433
fRix 75 7 512141711 5 4 0 9.3 16.0 32.00 0 3.33 3.397 3.40 4.36 3.466
2721 (MN—fi%) 45 7 3 7 12 10 6 0 0 0 15.5 22.2 37.7 0 3.33 3.397 3.38 3.73 3.445
(Db —H%) 22 0 2 5 1 5 3 3 3 0 0.0 9.0 31.8 0 3.37 3.437 3.43 5.04 3.509
5 H # 30 coftcs) 8 0 O O 1 2 2 2 1 0 0.0 0.0 0.0, 0| 337 3415 339 6.00  3.465
na 7 0 0O 1 1 2 0 0 3 0O 0.0 0.0 14.2| 0 3.35 3.403| 3.38 5.85 3.423
firtx 278A 1REE 8 0 1 1 4 2 0 0 0 O 0.0 12,5 25.0/ 0| 3.36 3.425| 3.39 3.87 3.457
467% SRAR 11 0 3 2 2 2 1 1 0 0 0.0 27.2 454 0| 3.36 3.427| 3.38 3.90 3.446
L5 20 1 4 1 4 2 3 4 1 0 50 25.0 30.0 0| 3.34 3.399| 3.37 4.60 3.430
ARz 15 5 2 1 0 3 2 2 0 0| 33.3 46.6 b53.3 0 3.34 3.431 3.38 3.53 3.463
2831 (MN—fi%) 8 2 0 1 0 3 2 0 0 0 25.0 25.0 37.5 0 3.34 3.431 3.36 4.00 3.447
(ZDAh—H%) 7 3 2 0 0 0 0 2 0 0 42.8 71.4 71.4 0 3.39 3.454 3.40 3.00 3.482
A E 30 (ot
nma 15 6 0 0 2 1 4 2 0 0| 40.0 40.0 40.0/ 0| 3.33 3.384 3.38 3.80 3.464
yEAN 288A 1REE
455% SRAR 89 20 13 7 131215 5 4 0| 224 370 449 0| 3.31 3.409 3.38 3.77 3.466
LLB5 15 4 5 1 0 2 3 0 0O 0| 266 600 66.6/ 0 3.31 3.396/ 3.35 3.00 3.435
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L—R 53 AR

ERES. 2ESY
# 7. EFE. R, # = 1% 2% 3% BB B= i
K. i ® @ ® @ ® ® @ [ x pop:d wE EH HE LY HE BE  EAY
ARix 16 0 0 4 1 8 1 2 0 O 0.0 0.0 25.0 O 4.75
2221 (MN—#%) 9 0 0 3 1 4 0 1 0 O 0.0 0.0 33.3] 0 4.44
(ROA—AE) 7 0 O 1 0 4 1 1 0 O 0.0 0.0 142| 0 5.14
na 1 0 0 O 0O O o 1 0 O 0.0 0.0 0.0 O 7.00
fRix 22HA {RERIE 1 0 0 O O O o o 1 o 0.0 0.0 0.0 O 8.00
57i% JEAR 6 0 2 0 0 1 2 0 1 O 0.0 33.3 33.3] O 4.83
LB 1 0 0 O 0O 1 0o 0O O o 0.0 0.0 0.0 O 5.00
ARix 18 5 5 1 3 1 2 1 0 0 27.7 555 61.1 0 3.00
2522 (MN—#%) 13 3 4 1 3 0 1 1 0 0 23.0 53.8 61.5| 0 3.00
(ROA—AE) 5 2 1 0 0 1 1 0 0 0 40.0 60.0 60.0, 0 3.00
na 1 0 0 1 0 0O 0o 0o 0 o 0.0 0.0 100.0f O 3.00
fix 25HA {REBIE 1 0 0 1 0 0O 0o 0o 0 o 0.0 0.0 100.0f O 3.00
51 SRR 4 0 1 0 1 1 0 1 0 O 0.0 250 250 O 4.50
LB 2 1 0 1 0 O O o o0 o 50.0 50.0 100.0f O 2.00
ARis 19 0 2 0 3 55 4 00 0.0 105 105 O 5.21
2730 (MN—#%) 13 0 1 0 3 4 2 3 0 0 0.0 7.6 7.6/ 0 5.15
(ROA—AT) 6 0 1 0 0 1 3 1 0 O 0.0 16.6 16.6| 0 5.33
e
fRix 275A {RERIE 1 0 0 O O O o 1 0 o 0.0 0.0 0.0 O 7.00
467% PEZYN 5 0 0 O 0 0 0o 1 4 O 0.0 0.0 0.0 O 7.80
LB 4 0 0 1 1 2 0 0 0 O 0.0 0.0 25.00 O 4.25
ARis 13 1.4 2 2 2 1 010 7.6 384 538 O 3.61
2720 (MN—#) 6 1 1 1 2 1 0 0 0 O 16.6 33.3 50.0, O 3.16
(ROA—AE) 3 0 1 1 0 1 0 O 0 O 0.0 33.3 66.6| 0 3.33
4 5 = 20| (RoMiGH) 4 0 2 0 0 0 1 0 1 O 0.0 50.0 50.0, © 4.50
ne
fRix 275A {RERIZ 1 0 0 0 0 0O O O O] 100.0 100.0 100.04 O 1.00
457% AR 0O 0 0 1 0 0O 0 0 o 0.0 0.0 0.0 O 4.00
LLIB& 2 2 2 1 1 1 0 O O 22.2 44 .4 66.6| 0 3.00
ARis 20 7 7 2 3 1. 0 0 0 00 35.0 70.0 80.0 O 2.20
2721 (MN—%)| 12 3 5 1 2 1 0 0 0 O 25.0 66.6 75.0, 0 2.41
(ROA—AE) 4 2 1 1 0 0 0 0 0 O 50.0 75.0 100.0, © 1.75
5 Heh 30| (RofhGH) 4 2 1 0 1 0 0 0 0 O 50.0 75.0 75.0/ 0O 2.00
e 2 2 0 0 0 O O O 0O 0| 100.0 100.0 100.0f O 1.00
firizx 27HA {RERIZ 2 0 2 0 0 O O o o o 0.0 100.0 100.0f O 2.00
467% JEAR 2 1 0 0 0 1 0 0o o0 O 50.0 50.0 50.00 O 3.00
LLIB& 3 1.1 0 0 1 0 0 0 O 33.3 66.6 66.6/ 0 2.66
ARizk
2831 (MN—fig) |-
A-156 (MNGH#)| -
(ZOAfh—AE) |-
*I]E {EE 30 (ZOABGHER) | - O I .
na 1 0 0 O O O o o 1 o 0.0 0.0 0.0 O 8.00
AR 28EA {RERIE
457% SRR 9 0 1 1 0 2 3 1 0 0.0 11.1 222/ 0 5.33
L= 3 0 0 0O O O 2 O 0 0.0 0.0 0.0 O 6.66
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* 3 =R —fiEik HEFE (22:15)
BRES. 2E5 L—R 155 AR
B O.BFA. ME. 4 X 2 iy
H. &5 O) @ @ ® ® @ -4 2HE LAY b1 ] LAY
AR 5 01 0011200 0.0 20.0 20.0 O 5.40
2221 (MN—#%) 4 0 0 0 0 1 1 2 0 O 0.0 0.0 0.0 0 6.25
(A —HE) 1 0 1 0 0O O 0 O 0 O 0.0 100.0 100.0 0 2.00
Nne|
iz 22HA REBIE 1 0 0 0 0O 01 0 0 O 0.0 0.0 0.00 O 6.00
57% PEZ /N
LLIFZ
ARis 6 1 1 11 0 0 2 0 O 16.6 33.3 500 O 4.00
2522 (MN—#%) 3 0 0 1 1 0 0 1 0 O 0.0 0.0 33.3 0 4.66
(A —HE) 3 1 1 0 0 O 0 1 0 O 33.3 66.6 66.6 0 3.33
Nne|
fiRizx 25HA R 0O 0 0 0o 0O 1 0 0 O 0.0 0.0 0.00 O 6.00
51i% PEZYN 0O 0 0 1 0 O 0 0 o 0.0 0.0 0.00 O 4.00
LLIF5
ARizk 2 01 00 O10O00O0 0.0 50.0 50.0 O 4.00
2730 (MN—#%) 1 0 0 0 0 O 1 0 0 O 0.0 0.0 0.0 0 6.00
(ZOfth—i%) 1 0 1 0 0 O 0 O 0 O 0.0 100.0 100.0 0 2.00
e 1 0 0 0 0O 0O 0O1 0 O 0.0 0.0 0.00 O 7.00
frix 278A RERIE
467% PEZYN 5 0 1 2 1 1 0 0 0 O 0.0 20.0 60.00 O 3.40
LLIF5
SRIx 7 1 0 121110 0 142 142 285 0 4.28
2720 (MN—#%) 3 0 0 1 0 O 1 1 0 O 0.0 0.0 33.3 0 5.33
(ZOfth—i%) 1 1 0 0 0 O 0 O 0 O 100.0 100.0 100.0 0 1.00
4 =Y > St 20| (RoMiGH) 3 0 0 0 2 1 0 0 0 O 0.0 0.0 0.0 0 4.33
e 3 0 0 O 2 0 0 0 o 0.0 0.0 0.00 O 4.66
BRIz 27HA RERIE
457% PEZ /N
L= 4 0 0 1 2 1 0 O 0 O 0.0 0.0 2500 O 4.00
ARizk i1 0 1 0 2 4 1 3 0O 0.0 9.0 9.0 O 5.18
2721 (MN—#) 6 0 0 0 1 2 1 2 0 0 0.0 0.0 0.0/ © 5.66
(ZOAE—H) 2 0 0 0 1 0 0 1 0 O 0.0 0.0 0.0 0 5.50
5 M # 30| @ofee®m)) 3 0o 1 0 0 2 0 0 0 0 00 333 333 0 4.00
e
BRIz 27HA RERIE
467% PEZYN 1 0 0 0 0O 0O 1 0 0 O 0.0 0.0 0.00 O 6.00
L= 4 0 1 0 1 0 1 1 0 O 0.0 25.0 2500 O 4.75
ARizk i1 01 00O O O OO 0.0 100.0 100.0 O 2.00
2831 (MN—H#%) 1 0 1 0 0 O 0 O 0 O 0.0 100.0 100.0 0 2.00
(O —RE)| -
e 1 0 1 0 0O 0O O O o o 0.0 100.0 100.0f O 2.00
A 28HA RERIE
45i% R 8 5 0 1.0 0 1 0 1 0O 625 625 7500 O 2.75
LLIF5
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